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1)(i)—(v). Multiple choice questions.
Inclicate your answers to questions (i}—(v) by circling only ONE of the letters.

2
(i) [3] Consider the rational function Gfﬂﬁ!?@ Indicate the correct form you would
use to express this rational function in partial fractions.
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(ii) {3] Indicate the integral that you would use to find the volume of the solid flormed by
rotating the region bounded by the graph of y = ™7, the line z = 1 and the line y = 1
around the line r = 1. =%
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(iii) [3] Indicate the integral which is equal to d:r: after applying a trigonometric
substitution.
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(iv) (3] Indicate the integral which is equal to f 2% In(z) dz.
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(v} [3] Indicate the limit or limits which can be correctly used to calculate
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In the following questions, you must show all your work to receive full credit.
You may use integrals from the Table of Formulas, but you should refer to themn

by number.
2) Calculate the following integrals or explain why the integral does not exist.
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3) Calculate the following integrals or explain why the integral does not exist.
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4) [6] Celeulate the average value of the function f(z) = e®sin(z) on the interval [0, 7).
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5) [6] Calculate the valume of the solid formed by rotating the area enclosed by the graphs
of y = 2% and y = 2r — z2 around the z-axis.
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THE END



